Social Security

July, 2013
- Study Details -

Field Dates: July 20-26, 2013
Sample Size: 738
Margin of Error: 3.6%, with a design effect of 1.4814 the margin of error is 4.4%

[SCREEN 1]

Thank you for your willingness to participate in this research. In order to optimize the graphics
in this survey, please complete this survey on a computer or tablet, not a smartphone.

[SCREEN 2]
INTRODUCTION

In this exercise we are going to deal with Social Security--the program that provides monthly
benefits primarily to Americans when they retire or when they are disabled and unable to work.

To get started, here are some basic facts about Social Security.

e All workers are required to pay 6.2% of all of their wages and salaries up to a certain
maximum amount, called a cap, which is currently $113,700 a year. Their employer
pays a matching amount. These are called payroll taxes. Earnings above thecap are
not subject to the payroll tax.

e Provided that workers have paid payroll taxes into Social Security for a total of at least
10 years, when they retire they receive monthly benefits for the rest of their lives.

e The level of benefits a person receives is related to his or her average earnings, and
thus the amount of payroll taxes they have paid.

Q1. Overall, would you say your view of Social Security is:

VEIY POSITIVE. ..ottt e e e e e e e e e e e e e 22%
Republicans. ..o 17
Democrats. ........vviiiiie e 30
Independents..........cooveieiii il 1T

SOMEWNAL POSITIVE. .. ...t e e e e 50
RepUDIICANS.. ... 49
DeMOCKALS. .. c.e e D2
Independents..........ccceiviiiiiiiii e 46

Somewhat NEgAtIVE. ... ..o 21
Republicans..........oooiii 28
DemocCrats. .. ....ovvieiiii e 13
Independents..........cooeeiiii i 24

VEIY NEOALIVE. ..ottt e e e e e e e e e 7
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Republicans. ..o 6

DEeMOCTALS. .. ...ve e e e e D

Independents..........oooeviiiii i 12
Don’t KNOW/REFUSEA.... ... i 1

[SCREEN 3]

Currently, the average monthly benefit amount is $1,258 a month. This is the benefit that goes
to someone whose average lifetime earnings were about $2,500 a month (adjusted for
inflation). Thus, such a person receives about 50% of those earnings.

Average Retiree

Average lifetime earnings

_ 32'500""‘0.

Monthly benefit

Q2. Does the monthly benefit seem:

Higher than you expected.............ccooeii i e en. .. 15%
Republicans..........coovviiiiiiiiii i ene.00 18
DemocCrats. .. ....ovveeeiii el 14
Independents.........ccovviiiiiie i e e e 14

About the same as you exXpected..........ccouvvveiieiieiie e e eeiennns 53
Republicans. ..o 55
DEeMOCTALS. .. ...ve et et e e e ee e D4
Independents..........c.ccoiiiii i D0

Lower than you exXpected..........coevviiiiie e e 30
Republicans. ..o 26
DemoCrats. .. ....ovveeie i e 3D
Independents..........cooeeiiiii i 3D
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DoNn’t KNOW/RETUSE. .. ... e e e e e e e e e, 1

[SCREEN 4]

Benefits are progressive. This means that lower-income workers receive a higher benefit
relative to their earnings before they retired than higher-income workers do. Here is an
example. If Person A’s average lifetime earnings were $1,500 a month, Person A’s Social
Security monthly benefit would be $939 or about 63% of prior earnings. For comparison, if
Person B’s average lifetime earnings were $6,000 a month, Person B’s monthly benefit would
be $2,168, or about 36% of prior earnings.

Social Security Benefits are Progressive:
Two Examples

PersonA
Average lifetime earnings

I < 500

Monthly Benefit

- $939/mo.=63% of earnings

PersonB

Average lifetime earnings

T  s000/mo.

Monthly Benefit

I $2168/mo.=36% of earnings

[SCREEN 5]
We are now going to address three issues about Social Security that have been broadly

discussed.

The first issue we will address is that the Social Security trustees have projected that in 2033
the Social Security Trust Fund will not have enough funds to pay the level of benefits that are
scheduled to be paid by present law. Benefits would then be financed from current payroll
taxes only and would drop by 23%. We will call this the Social Security shortfall. You will
be asked to consider approaches for dealing with this shortfall that include both reducing
benefits and increasing revenues.

The second issue is whether Social Security benefits are adequate for certain groups. You will
be asked to consider proposals for increasing benefits for certain groups.

The third issue is how cost of living adjustments (or COLAS) for inflation should be calculated.
You will be asked to consider two different proposals for changing this calculation.
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Finally, you will be asked to select a package of proposals that you think would be best for
reforming Social Security, while addressing the Social Security shortfall.

[SCREEN 6]

We will first address the Social Security shortfall—the shortage of funds projected for 25 years
from now.

Q3. How much have heard or read about the Social Security shortfall?

RepUDIICANS......oe e 19
DemocCrats.......cocovviiiii i 14
Independents..........coeveieiiiiiiii i e e 10

RepublICanS. .. ... 38
DemocCrats. .. ....c.vveieie e . 30
INdependents........cooeiviiii e 3D

Justalittle.......cooiii 230
RepUDIICANS. ... 31
Democrats. ......o.veviiiiii e 30
INdependents........ccceoeviiiiiicr e e 28

NOthING....cei e e e e 18
RepubliCans. ... 11
Democrats........coovviiiii e 20
Independents.........ccooeiiiiiii e 20

Don’t Know/Refused..........ccoooeiie i iiiiiieciiiciiieaee 0

[SCREEN 7]
The Social Security shortfall has several major causes, which will be presented over the next
several screens:

Americans have been having fewer children, so the number of workers contributing to Social
Security per Social Security recipient is going down. In the figure below you can see how this
has changed over time and how it is projected for the future.
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Number of Active Workers for each Social
Security Retiree Over Time

Worker to beneficiary ratio, selected years
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[SCREEN 8]

Another factor contributing to the shortfall is that Americans are living longer and thus receiving
benefits for more years. Please see the figure below for more detail.

Americans Living Longer

Average life expectancy at birth in the US, 1940-2020
2013
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[SCREEN 9]
Another factor contributing to the shortfall is that wages for middle and lower income workers
have not been growing as expected.

Another factor contributing to the shortfall is that the large baby boom generation is entering
retirement and will be putting more demands on Social Security.

Projected Population of Elderly People
(aged 65 and older), 1950-2080

120 2013 %%
s 20%
W 1 0%
: [ 0% 1% 1 15%
T 10%
i‘oi/_/—'/
0t 10%
20t 15%
0 ._- ; . + I } I + t L ﬁ%
1950 1970 1590 2005 2020 204

 Number of eldarly in the US (millions) —e— Eldedy & percentage of US population
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[ScrEEN 10]

Finally, contributing to the shortfall is the fact that Congress has not taken action for some
decades to adjust revenues and benefits to keep the program in long-term balance. The last
such legislation was in 1986.

The impact of the Social Security shortfall, if no action is taken, would be as follows:

Average monthly benefits, in current dollars, would go down from $1,260 to $970

Impact of Shortfall if No Action is Taken:
Seniors’ Monthly Benefit

Average monthly benefitin 2013

Monthly benefit with 23% cut if the Social Security
trust fundis depletedin 2033

And the percentage of seniors living under the poverty line would increase. Assuming the
same level of poverty as today, it is projected that the poverty level for seniors would rise from
9% to 18%.

[SCREEN 11]
To cover the shortfall, the government has two possible approaches: it can reduce benefits or
increase revenues.

REDUCING BENEFITS

We will first explore the approach of reducing Social Security benefits, which would reduce the
shortfall by reducing expenses.

Lowering Monthly Benefits for People Who Had Higher Earnings

One option for reducing benefits is to reduce the amount of benefits that people with higher
earnings will receive when they retire in the future.

Page 7



Currently, the more people earned while working (up to $113,700) the more they receive in
monthly benefits. One option --for new retirees only--is to gradually lower benefits for people
who had higher earnings. Their benefits would still be higher than people who had lower
earnings, but their benefits would be less than people in that income group are currently
scheduled to receive.

Here are two arguments in favor of this option. For each, please select whether you find it
convincing or unconvincing:

Q4. We have to cover the Social Security shortfall in one way or another. Wealthier retirees
have other ways to fund their retirement, such as pensions and savings. But right now they
get benefits that are higher than other people. This gap should be reduced so that their
benefits are more like others. It's only fair.

VEIY CONVINCING ...cuieiiiieieeieseeseeiesee e e e ae e e saesnee e eee e 22%
REPUDIICANS ..ot 11
DEMOCTALS ... 28
INAEPENUENTS ... 28

SOMEWhAt CONVINCING ...c.vviiiiiieiiieie et 37
REPUDIICANS......eoieeieceeeie e 30
DEMOCTALS ... e 47
INAEPENUENTS ... 30

Somewhat UNCONVINCING ...c..ccveiieieiieieesie e seeie e e ee e sie e 24
REPUDIICANS......cciiiieciiccie e 29
DEMOCTALS ... 19
INAEPENAENTS ... 25

VErY UNCONVINCING.....iiveiiieiteeiesee e eiesteeste e ste e s sre e nas 15
RePUBIICANS ... 27
DEMOCTALS ..o 5
INAEPENAENTS ..o 15

Don’t KNOW/RETUSEA .......ccvveivieieciesieee e 2

Q5. Social Security was established with the express purpose of ensuring that older or
disabled Americans would not fall into poverty. It really makes no sense that people with
higher incomes even get higher benefits than people with lesser incomes.

VEIY CONVINCING....utiiviiieiieeiie ettt ns 23%
RepUBIICANS ... 12
DEMOCTALS ... 28
INAEPENAENTS ..o 30

SOmMeWhat CONVINCING .......cviiiieieieiere e 38
REPUDIICANS......ccieiiiciiccie e 34
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INAEPENUENTS ... 32
Somewhat UNCONVINCING ......ecveiieieiieieeie e eie e e ee e e 22
REPUDIICANS......eoiiiiiieece e 26
DEMOCTALS ... 20
INAEPENUENTS ... 23
VErY UNCONVINCING . ..viiieeitieieaiie e sieesiesiee et eas 15
REPUDIICANS......eoiieieciee e 27
DEMOCTALS ...t 7
INAEPENUENTS ...t 12
DoN’t KNOW/RETUSE .......oviiiiiiieieie e 2

[SCREEN 12]
Here are two arguments against lowering monthly benefits for people who had higher
earnings. For each, please select whether you find it convincing or unconvincing:

Q6. Many of the proposals for reducing benefits based on income would end up hurting some
people who are part of the middle class, particularly people who live in areas of the country
where the cost of living is high. We should not change Social Security in a way that forces
seniors to lower their quality of life.

VErY CONVINCING ...ciuieiiiieiieeiesieseeiesee e e e ae e e sae e e eee e 23%
REPUDIICANS......cciiiiiiiieie e 26
DEMOCTALS ...t 20
INAEPENAENTS ... 23

Somewhat CONVINCING .......coviieiieie e 48
RePUDBIICANS ... 49
DEMOCTALS ... 51
INAEPENAENTS ..o 40

Somewhat UNCONVINCING .....couviuieiiieieie e 22
REPUDIICANS......cciiiiiiiiccie e 19
DEMOCTALS .....eeeeiiiieiiee et 24
INAEPENAENTS ... 23

VErY UNCONVINCING.....eiiiiiieieiie e see e et ste et sra e 5
RePUBIICANS ... 5
DEMOCTALS ..ot 3
INAEPENAENTS ..o 10

Don’t KNOW/RETUSEA .......ccvveiiieieciiesieeie e 2
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Q7. American workers have been paying Social Security payroll taxes for all their working lives
on the promise that they would be getting this money back in the form of benefits. Reducing
expected benefits to people who make more money is a violation of this understanding and
changes Social Security from a retirement program into a welfare program.

VEIY CONVINCING ...cvieiiieiiiieeiteeiesee e eiesreesteestesaesteesaesraesaeesaesseessaeneenreees 28%
REPUDIICANS......coiiiiiie e 41
DEMOCTALS ... 19
INAEPENUENTS ... 27
SOMEWNAL CONVINCING ....veiriiiiieitieie ettt 41
REPUDIICANS......eeieeieciee e 38
DEMOCTALS ...t 46
INAEPENUENTS ... 38
SOMeWhat UNCONVINCING ......eivieiieieiie e sie e se e 21
REPUDIICANS ..o 16
DEMOCTALS ... 25
INAEPENUENTS ... 20
VEIY UNCONVINCING . c..vitieiienieeiiesieeeestee et ssee st sae s st e see e sbeeneesneeneas 8
REPUDIICANS......eciiciiccieee e 4
DEMOCTALS ... e 10
INAEPENUENTS ... 11
DOoN’t KNOW/RETUSE ..ot 1

[SCREEN 13]

Now that you have considered all these arguments, we would like you to evaluate three
proposals for reducing benefits for people with higher lifetime earnings. All of these proposals
would only apply to the benefits of new retirees. Their benefits would still be higher than people
who had lower earnings, but their benefits would be less than people in that income group
currently receive.

Q8a. The first proposal is to reduce the benefits for the top 25 percent of earners--that is, those
whose average earnings over their lifetimes are about $65,500 a year and higher. This would
reduce the Social Security shortfall by 7%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ...ocooiiiiiiiece e 34%
REPUDIICANS......cciiiiiiiiccie e 45
DEMOCTALS .....eeieiiii e 27
INAEPENAENTS ...t 30

Justtolerable (5) ....ovvvnvini i 28
RePUBIICANS ... 27
DEMOCTALS ... 24
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INAEPENUENTS ... 36

Acceptable (6-10) ..o.ovie i 38
REPUDIICANS......eoieeieiiee e 27
DEMOCTALS ... 49
INAEPENUENTS ... 33

Don’t KNOW/RETUSEA .......ccvveiieeiecieceee e 1

IMIBAIN . 5.0
REPUDIICANS......coiiiieiiee e 4.2
DEMOCTALS ... s 5.6
INAEPENUENTS ...t 5.0

[SCREEN 14]

Q8b. A second proposal is to reduce the benefits for the top 40 percent of earners--that is,
those whose average earnings over their lifetimes are about $47,000 a year and higher. This
would reduce the Social Security shortfall by 24%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cooeeieiieece e 51%
REPUDIICANS......eeiieieceece e 62
DEMOCTALS ... 47
INAEPENAENTS ..o 44

Just tolerable (5) .....cvvvii 0. 20
REPUDIICANS......cciiiiiciiccie e 22
DEMOCTALS .....eieiiii et 27
INAEPENAENTS ... 33

Acceptable (6-10) ..ot 21
REPUBIICANS ... 14
DEMOCTALS ...t 26
INAEPENAENTS ... 23

Don’t KNOW/RETUSEA .......ccvveivieieciiesiiee e 1

IMIBAIN . e 3.9
REPUDIICANS......ccviciiecie e 3.1
DEMOCTALS .....eeieiieiee s 4.2
INAEPENAENTS ... 4.3
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[SCREEN 15]

Q8c. A third proposal is to reduce the benefits for the top 50 percent of earners--that is, those
whose average earnings over their lifetimes are about $39,000 a year and higher. This would
reduce the Social Security shortfall by 35%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ...ccooveieeecieceee e 63%
REPUDIICANS ..ot 70
DEMOCTALS ... 60
INAEPENUENTS ... 57

Just tolerable (5) ....ovvvvii i 21
REPUDIICANS......eoiecieiicce e 18
DEMOCTALS ... e 21
INAEPENUENTS ... 26

Acceptable (6-10) .....vvii e 15
REPUDIICANS ..o 12
DEMOCTALS ... 17
INAEPENUENTS ... 16

Don’t KNOW/RETUSEA .......ccvveiiiiiiiiiieee e 1

IMIBAN ... s 3.1
REPUDIICANS......cciiiiiecie e 2.6
DEMOCTALS .....eeieiiieiiee e 3.4
INAEPENAENTS ... 3.4

[SCREEN 16]
Raising the Full Retirement Age

Another option is to reduce benefits by raising the full retirement age, which would reduce the
total amount of benefits people would receive over their lifetime. (Note: This option does NOT
change people’s ability to take early retirement—uwith correspondingly lower monthly benefits--
which would still start at 62.)

Currently, the full retirement age is 66 years. According to current law, it is scheduled to
gradually rise until it reaches 67 by the year 2027 and then will stop rising. This has no effect
on those already receiving Social Security. It does affect those born in 1960 or later. The
graph below shows how the current law increases the full retirement age.

Page 12



Current Policy — Starting in 2020, Gradually Raise
Full Retirement Age from 66 to Age 67 in 2027

71 1
70 67
69
68 1
67 A Full Retirement Age
66 |—
65 1
64 1
63 1
62 Early Retiremant Age
61 1
A A

2012 2020 2027 2034 2041 2048 2055 2062 2069

Year

Retirement Age

[SCREEN 17]
One option is to continue to gradually increase the retirement age beyond the age of 67, so
that it eventually reaches a higher age.

Here are two arguments in favor of this option. For each, please select whether you find it
convincing or unconvincing:

Q9. With people living longer, the number of retirees receiving benefits is growing. At the same
time birth rates are lower, diminishing the number of workers who contribute revenue to Social

Security. Thus, it is not affordable and simply not realistic to have people retire as early as they
have.

VEIY CONVINCING . ...teeitiiiietieiesiee sttt st enes 16%
REPUDIICANS ... oo 19
DEMOCTALS ... 17
INAEPENUENTS ... 10

SOMEWhat CONVINCING ......coiveiieiieie e ee e 44
REPUDIICANS ..o 51
DEMOCTALS ... 39
INAEPENUENTS ... 44

SO0mMewWhat UNCONVINCING ......ooveeiiiaiiiie e 28
REPUDIICANS......eeieiicceeie e 22
DEMOCTALS ... 33
INAEPENUENTS ... 27

VErY UNCONVINCING ...ttt ittt sneenes 11
REPUDIICANS......ccviiiiciece e 8
DEMOCTALS ...t 10
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INAEPENUENTS ... 17
Don’t KNOW/RETUSEA .......ccuveiiiiiiiiiiee e 1

Q10. People at 66 are now much healthier than in the past and most of the work people do is
much less physically demanding, so it is appropriate for people to work a little bit longer before
retiring. Raising the retirement age is a common-sense response to how life has changed in
the modern era.

VEIY CONVINCING ...cvieiiirieiieeiesieseeiesee e ae e e sie e sreesae e e eee e 19%
REPUDIICANS ..o 23
DEMOCTALS ... 19
INAEPENUENTS ... 14

SOMEWhAt CONVINCING ...c.vveiiiiieiiieie e 42
REPUDIICANS......eoieeiecieee e 50
DEMOCTALS ... e 40
INAEPENUENTS ... 34

Somewhat UNCONVINCING ......ecveieeieieeieesie e e eie e e see e 23
REPUDIICANS......eoiiiiieeee e 18
DEMOCTALS ... 23
INAEPENUENTS ... 29

VErY UNCONVINCING . ...viiiieitieteeiesiie e siee e et eas 15
REPUDIICANS......ecieciccieee e 9
DEMOCTALS ... 16
INAEPENAENTS ..o 20

Don’t KNOW/RETUSEA .......ccveeivieieciesiiee e 2

[SCREEN 18]
Here are two arguments against gradually raising the full retirement age beyond 67. For
each, please select whether you find it convincing or unconvincing:

Q11. Raising the retirement age is unfair because many workers in their 60s still hold
physically demanding jobs--blue-collar jobs, or retail jobs where they are on their feet all day.
For them, it is already a stretch for the retirement age to rise to 67 as planned; it should not
rise any further.

VEIY CONVINCING....ueiiiiiieiteeieie ettt sae e ens 25%
RepUBIICANS ... 23
DEMOCTALS ... 27
INAEPENAENTS ... 24

SOmMeWhat CONVINCING .......cviiiieieieie e 42
REPUDIICANS......cciiiiiiiiccie e 44
DEMOCTALS ...ttt 43
INAEPENAENTS ... 37
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Somewhat UNCONVINCING ......ccveiieieiie e e e e sie e see e e 25

REPUDIICANS ..ot 27
DEMOCTALS ..o 24
INAEPENUENTS ... 26
VEIY UNCONVINCING . ...viitiiitieiesiiesieeiesiee e e e sie et sbe e s see e 6
REPUDIICANS......ecvecicieee e 7
DEMOCTALS ... 5
INAEPENUENTS ... 10
DoN’t KNOW/RETUSE ..o 2

Q12. Raising the retirement age is just a benefit cut by another name--in fact each worker will
get less over their lifetime. It is particularly unfair to people with lower incomes and minorities.
Because on average they do not live as long, they get less back in Social Security benefits
over their lifetime for the amount they put in; thus, raising the retirement age will cut a
disproportionately large percentage of their average lifetime benefits.

VEIY CONVINCING ...cuieiiiiieiieeiiesieseeieseesie e e e ee e e sae e e enee e 21%
REPUDIICANS ..ot 14
DEMOCTALS ... 27
INAEPENUENTS ... 18

Somewhat CONVINCING .......covviieiieiie e 37
RepUBIICANS ... 37
DEMOCTALS ... 36
INAEPENAENTS ..o 39

Somewhat UNCONVINCING .....ccuviieieieiiie e 30
REPUDIICANS......cciviiiiiiccie e 33
DEMOCTALS ...t 30
INAEPENAENTS ... 26

VErY UNCONVINCING.....eiieiiieiteeiesiesieeresiee e ste e sreene e e 11
RePUBIICANS ... 16
DEMOCIALS ..ot 5
INAEPENAENTS ..o 15

Don’t KNOW/RETUSEA .......ccvveieieieciesieee e 2

[SCREEN 19]
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Now that you have considered all the arguments, here are three proposals for raising the
retirement age.

[ScrEEN 20]

Q13a. One proposal is to continue gradually raising the retirement age until it reaches 68 for
people retiring in 2034. This step would reduce the Social Security shortfall by 16%.

Proposal 1- Gradually Raise the Retirement
Age to 68 by 2034

71 1 67 68

70

&

6 //_, Full Retirement Age
cc -J-

- N O =il -
[rt g s - w
PO T 1 PR |

Retirement Age

P D N h N ©

£2 Eary Retirement Age

61 1

6‘:' mrrrrrrTrrrrrrrTrrrrrTrrrTrrrrrTrrTrrrrTrr Ty rrrTrrrroTroTyTreTid
2012 2020 2027 204 2041 2048 2085 2062 2069

Year

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ...ccooveiiieceece e 36%
RepUBIICANS......c.viieii 32
DEMOCTALS ... 37
INAEPENAENTS ..o 41

Just tolerable (5) .....covvv i 0. 20
REPUDIICANS......cciiiiiciece e 21
DEMOCTALS ... 26
INAEPENUENTS ... 34

Acceptable (6-10) ....ovve i 36
REPUDIICANS ..o 44
DEMOCTALS ... 36
INAEPENUENTS ... 24

Don’t KNOW/RETUSEA .......ccvveiiiiiciiiiece e 2

IMIBAN ... s 4.8
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REPUDIICANS ..o 5.3
DEMOCTALS ..o 4.8
INAEPENUENTS ... s 4.2

[SCREEN 21]
Q13b. Another proposal is to continue to gradually raise the retirement age until it reaches age
69 for people retiring in 2041. This step would reduce the Social Security shortfall by 22%.

Proposal 2- Gradually Raise the Retirement
Age to 69 by 2041

71 67 68 69

R ’,.4—-'"-"_ Full Retirement Age

O

DN D D DD
SABBRABLAS

Retirement Age

Early Retiremant Age

LI L L L L L L O L L L L L L L LB L L LA LA L

2012 2020 2027 2034 2041 2048 2055 2062 2059
Year

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ..o 49%
REPUDIICANS......eeieciccieee e 47
DEMOCTALS ... 53
INAEPENAENTS ... 44

Just tolerable (5) ....vvvve i 000 22
REPUDIICANS ..ot 19
DEMOCTALS ... 19
INAEPENUENTS ... 31

Acceptable (6-10) ..ouvvne i 29
REPUDIICANS ... .ecveciccieee e 34
DEMOCTALS ... 27
INAEPENAENTS ... 22

DoN’t KNOW/RETUSE .......oviiiiiiieiieieese s 1
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AV 1= 4.3

REPUDIICANS ... .o 4.6
DEMOCTALS ..o 4.0
INAEPENUENTS ... 4.2

[SCREEN 22]

Q13c. Another proposal is to continue to gradually raise the retirement age two months per
year until it reaches age 69 in 2041 and then slow the pace, raising it just a half a month per
year raise until it reaches age 70 in 2064. This step would reduce the Social Security shortfall
by 31%.

Proposal 3 - Gradually Raise the Retirement
Age to 70 by 2064

M 67 68 69 70
70 - —
69 Ful Retirement Age
63 - //

67 _/_'__,.,/

65-

65 1
64-
B3
62 Early Retirement Age
61
680 T T T T T T T T T T T T T T T T T T T T T T T T T T

2012 2020 2027 2034 2041 2048 2055 2062 2069
Year

Retirement Age

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cooeeiii e 49%
REPUDIICANS......eeieciccieee e 48
DEMOCTALS ... 52
INAEPENUENTS ... 46

Just tolerable (5) ..ovvvvve e 21
REPUDIICANS......ooiiiieiee e 19
DEMOCTALS ... 18
INAEPENUENTS ... 31

Acceptable (6-10) .....oveiri i 27
RePUBIICANS......coviieee e 32
DEMOCTALS ... 28
INAEPENAENTS ..o 20
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DOoN’t KNOW/RETUSEA ... oo 2

IMIBAN ... s 4.1
REPUDIICANS......coiiiiiciiee s 4.3
DEMOCTALS ..o 4.1
INAEPENUENTS ...t 3.8
[SCREEN 23]

INCREASING REVENUES
Now we will explore the approach of increasing revenues that go to the Social Security fund.
Raising the Cap on Taxable Earnings

One option is to raise the maximum amount of salary and wages subject to the Social Security
payroll tax (also known as raising the cap). Currently, the amount of salary and wages that is
subject to the Social Security payroll tax includes up to $113,700 per year. By this plan, the
cap on salary and wages would rise, thus increasing the amount of taxes paid, but the
corresponding benefits would also rise. This would reduce the Social Security shortfall by 30%.

[SCREEN 24]
Here is an argument in favor of raising the maximum amount of salary and wages subject to
the Social Security payroll tax. Please select whether you find it convincing or unconvincing:

Q14. People who are well off have benefited from all the great things about the American
economic system. It is only fair that they should contribute more and they can surely afford it.
Remember, with this change they will also get higher Social Security benefits.

VEIY CONVINCING . ...iiviiiieiieieiesieste sttt 23%
REPUDIICANS......cciiiiiiiiieie e 14
DEMOCTALS .....veeeiiiieiiie et 30
INAEPENAENTS ... 25

Somewhat CONVINCING .......coviieiieie e 43
REPUBIICANS ... 48
DEMOCTALS ... 46
INAEPENAENTS ..o 33

Somewhat UNCONVINCING .....couviieiiiiieiesie e 20
REPUDIICANS......cciieiiiiiccie e 20
DEMOCTALS .....veieiiii et 18
INAEPENAENTS ... 23

VErY UNCONVINCING.....eiveiieeieiiesie e e stee e ee st e st sne e nas 11
RePUBIICANS ... 18
DEMOCIALS ..ot 3
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INAEPENUENTS ... 12

DOoN’t KNOW/RETUSEA ... 3

Here is an argument against this option. Please select whether you find it convincing or
unconvincing:

Q15. In general, increasing taxes is a serious mistake. It reduces the amount that Americans
have to spend on their family’s food, housing, clothes, education, etc. Over time this would
cause a hefty tax increase for some taxpayers, many of whom are not really wealthy. It would
especially hurt the self-employed and certain smaller business owners.

VErY CONVINCING ...ciuiiiiiiieiieeiesieseeiesee e sae e sseesae e e eee e 22%
REPUDIICANS ..ot 27
DEMOCTALS ... 20
INAEPENUENTS ... 19

SOMEWhAt CONVINCING ...c.vviiiiiieiiieii e 37
REPUDIICANS......eoieeecieee e 43
DEMOCTALS ... s 35
INAEPENUENTS ... 34

Somewhat UNCONVINCING ......coveieeieiieieese e e eie e see e 28
REPUDIICANS......coiiiiiieeee e 24
DEMOCTALS ... 32
INAEPENAENTS ... 30

VErY UNCONVINCING.....iiiiiiieieiiesieeiestee e etesee e sreesne e 9
RePUDBIICANS ... 5
DEMOCTALS ..o 12
INAEPENAENTS ..o 11

Don’t KNOW/RETUSEA .......ccvveiveeieciesiceie e 3

[SCREEN 25]

Now that you have considered these arguments, here is a specific proposal:

Q16. Gradually, over a period of 10 years, raise the limit on salary and wages subject to the
Social Security payroll tax from the current $113,700 per year to $215,000.

This would reduce the Social Security shortfall by 30%.

Please select how acceptable or unacceptable this proposal is to you on the scale below:

Not acceptable (0-4) .....covveiveiceeceee e 27%
RepUBIICANS ... 30
DEMOCTALS ... 21
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INAEPENUENTS ... 35

Just tolerable (5) ....ovvviii i 24

REPUDIICANS......eoieeieiiee e 26
DEMOCTALS ... 21
INAEPENUENTS ... 25
Acceptable (6-10) .....vvniei 48
REPUDIICANS ..ot 43
DEMOCTALS ... 57
INAEPENUENTS ... 36
Don’t KNOW/RETUSEA .......ccueeiiiiiiieieee e 1
IMIBAIN . 5.7
REPUDIICANS......ccviciiecieee e 5.3
DEMOCTALS .....eeieiii s 6.4
INAEPENUENTS ... 5.0

[SCREEN 26]

Another proposal goes further, eliminates the cap, and makes ALL salary and wages subject to
the Social Security payroll tax. This would also increase the benefits paid to these people who
pay more in Social Security taxes. This would reduce the Social Security shortfall by 72%.

Here is an argument in favor of this proposal. Please select whether you find it convincing or
unconvincing:

Q17. The incomes of the wealthy have been growing by leaps and bounds, while the incomes
of the middle class have been stagnating. It is time for the wealthy to step up and do their part
by helping to make Social Security secure. Besides, all it means is that they pay the payroll
tax all year (like everybody else), not just the first part of the year.

VEIY CONVINCING . ...eiviiiieiieieie ittt 40%
REPUDIICANS......coiviiicciiccie e 32
DEMOCTALS ...t 49
INAEPENAENTS ... 36

Somewhat CONVINCING .......coviieiieie e 36
REPUBIICANS ... 37
DEMOCTALS ..ot 35
INAEPENAENTS ..o 37

Somewhat UNCONVINCING .....couviuieieieiiiesie s 13
REPUDIICANS......coiiiiiiiiiccie e 15
DEMOCTALS .....eeieiiii et e 12
INAEPENAENTS ... 11

VErY UNCONVINCING.....eiiiiiieieiiesieeiestee e esteseesie et ee e sre e 9
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REPUDIICANS ..o 16

(D)<Y 1 (011 £ | £ 2
INAEPENUENTS ... 11
DOoN’t KNOW/RETUSEA ... 2

Here is an argument against this proposal. Please select whether you find it convincing or
unconvincing:

Q18. High earners just saw their income taxes, investment taxes and Medicare taxes
increased. Higher taxes will discourage them from working and encourage tax evasion. They
will also have less money to make investments that create jobs and promote economic activity.
This will hurt the economy.

VEIY CONVINCING....ueiiiiiieiiieiiecee e se et sre e ens 14%
RepUBIICANS ... 20
DEMOCTALS ... 11
INAEPENUENTS ... 11

SOMEWhAt CONVINCING .....veeiiiiieiiieiesie st 33
REPUDIICANS......eoieeieiiee e 37
DEMOCTALS ... 32
INAEPENUENTS ... 30

Somewhat UNCONVINCING ...c..coveiieieiieseeie e e e e e ee e e 33
REPUDIICANS......coiiiiiiieece e 33
DEMOCTALS ... 33
INAEPENUENTS ... 31

VErY UNCONVINCING . ...viiiieitietieiesiee e et sie st 18
REPUDIICANS......ecviciccieee e 9
DEMOCTALS ... e 23
INAEPENUENTS ... 22

DoN’t KNOW/RETUSE .......oviiiiiiieieiee e 2

[SCREEN 27]

Q19. Now that you have considered these arguments, here is a specific proposal:

Eliminate the cap so that ALL salary and wages are subject to the Social Security payroll tax.
This would reduce the Social Security shortfall by 72%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cooeeiiieiee e 26%
REPUDIICANS......eoieeiecieeie e 29
DEMOCTALS ... e 24
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INAEPENUENTS ... 27

Just tolerable (5) ....vvvvveii i 21

REPUDIICANS......eoieeieiiee e 20
DEMOCTALS ... 18
INAEPENUENTS ... 27
Acceptable (6-10) .....vnii 51
REPUDIICANS ..ot 50
DEMOCTALS .....eeieiiii e 55
INAEPENUENTS ... 45
Don’t KNOW/RETUSEA .......ccueeiiiiiiieieee e 1
IMIBAIN . 5.9
REPUDIICANS.... oo 55
DEMOCTALS .....veiiiiiceee s 6.4
INAEPENUENTS ... 5.6

[SCREEN 28]
Increasing the Payroll Tax Rate

Another possible option for increasing revenues is to gradually increase the payroll tax rate
paid to Social Security.

At present both workers and employers pay a tax of 6.2% on the amount of an employee’s
salary and wages subject to the payroll tax. Self-employed people pay both the employer and
employee share.

This option would increase the payroll tax rate very gradually, so that in the first year the rate
would go up from 6.2% to 6.25% for both the employer and the employee. In the second year
it would go up to 6.3%--and so on for a number of years.

[SCREEN 29]
Here is an argument in favor of raising the payroll tax rate to Social Security. Please select
whether you find it convincing or unconvincing:

Q20. Social Security is a good investment because it provides a foundation for Americans’
retirement, as well as protection in the event of worker disability or a spouse’s death. Paying a
little more now will shore up Social Security and make all Americans more secure later. It is
also appropriate for employers to make slightly higher contributions to their employees’
retirement, since fewer and fewer offer any pensions.

VEIY CONVINCING....ueiiiiiieiiieiie st e st 17%
RepUBIICANS ... 15
DEMOCTALS ...t 20
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INAEPENUENTS ... 16

SOMEWhAt CONVINCING .....veeiiiiieiiieiesie st 43
REPUDIICANS......eoieeieiiee e 42
DEMOCTALS ... 48
INAEPENUENTS ... 38

Somewhat UNCONVINCING ...c..coveiieieiieseeie e e e e e ee e e 24
REPUDIICANS ..ot 25
DEMOCTALS ... 23
INAEPENUENTS ... 25

VErY UNCONVINCING . ..viiuieiieeieaiiesieesieesiesiee e s siee st ee e e 13
REPUDIICANS......eoiecieiicce e 18
DEMOCTALS ...t 7
INAEPENUENTS ... 16

DoN’t KNOW/RETUSE .......oviiiiiiiiieieiese e 2

Here is an argument against this option. Please select whether you find it convincing or
unconvincing:

Q21. Raising the tax rate is bad for employees, especially people who are living paycheck to
paycheck. Any increase leaves them with less to spend and less to save for retirement. It is
also bad for employers because it increases their costs, leading them to cut back their
employees, and makes it harder to create new jobs. And it is bad for the self-employed, who
pay both the employer’'s and employee’s share of the payroll tax.

VEIY CONVINCING . ...tiviiiiiiieieie ettt 31%
REPUDIICANS.......ciiiiiciiiccie e 35
DEMOCTALS .....eeieiiiieiie et e 30
INAEPENAENTS ... 28

Somewhat CONVINCING .......coviieiieie e 42
RePUDBIICANS ... 45
DEMOCTALS ...t 45
INAEPENAENTS ..o 34

Somewhat UNCONVINCING .....ccuviieiiieieie e 19
REPUDIICANS.......ciiiiiiticcie e 14
DEMOCTALS ...t 21
INAEPENAENTS ... 22

VErY UNCONVINCING.....ciiiiiieieiieiieeie st steestesee e ee et ae e e e 5
RePUBIICANS ... 5
DEMOCTALS ..ot 3
INAEPENAENTS ..o 10
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DON’t KNOW/RETUSEA ... eeeeeeeee 2

[SCREEN 30]

Now that you have considered all the arguments, please evaluate some proposals for
gradually increasing the payroll tax rate to Social Security. As mentioned, in the first year the
rate would go up 0.05% from 6.2% to 6.25% for both the employer and the employee. In the
second year it would go up to 6.3%--and so on for a number of years.

Please evaluate the following proposals that appear on the next three screens for gradually
increasing the payroll tax rate:

[SCREEN 31]

Q22a. The first proposal raises the payroll tax rate 0.05% a year for 8 years so that it would
ultimately rise to 6.6%. For example a median full time worker earning about $39,000 a year
would see their monthly payroll tax go up by $13, from $202 to $215. This would reduce the
Social Security shortfall by 18%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cocveiveeceeceee e 31%
REPUDIICANS......coiiiiiiieiee e 30
DEMOCTALS ... 29
INAEPENUENTS ... 35

Justtolerable (5) ....ovvvnvii i, 20
REPUBIICANS ... 21
DEMOCTALS ... 25
INAEPENAENTS ..o 38

Acceptable (6-10) ....ooee i 42
REPUDIICANS......coieiiiciiccie e 49
DEMOCTALS .....eeeeiiieeiiie et 45
INAEPENAENTS ...t 23

Don’t KNOW/RETUSE ......veiveiiiiiieieiecesc e 1

IMIBAIN ... 5.2
RepUBIICANS ..., 5.3
DEMOCIALS ..ot 5.4
INAEPENAENTS ..o 4.7

[SCREEN 32]
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Q22b. A second proposal raises the payroll tax rate 0.05% a year for 14 years so that it would
ultimately rise to 6.9%. A person earning $39,000 a year would see their monthly payroll tax
go up by $22, from $202 to $224. This would reduce the Social Security shortfall by 35%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cooeeiiieee e 31%
REPUDIICANS......eoieciecieee e 32
DEMOCTALS ... s 28
INAEPENUENTS ... 38

Justtolerable (5) ..o.vvvvvie e 20
REPUDIICANS ..ot 23
DEMOCTALS ... 28
INAEPENUENTS ... 30

Acceptable (6-10) ..o.vv i 39
REPUDIICANS......eeiieiecce e 43
DEMOCTALS ... s 42
INAEPENUENTS ... 28

DoN’t KNOW/RETUSE ..o 3

IMIBAIN . s 5.0
REPUDIICANS......coieiiecieee e 5.1
DEMOCTALS ..o 5.2
INAEPENAENTS ... 4.5

[SCREEN 33]

Q22c. A third proposal raises the payroll tax rate 0.05% a year for 20 years so that it would
ultimately rise to 7.2%. A person earning $32,000 a year would see their monthly payroll tax
go up by $32, from $202 to $234.This would reduce the Social Security shortfall by 53%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....c.coveireiieece e 39%
RePUBIICANS ... 43
DEMOCTALS ...t 35
INAEPENAENTS ... 42

JUSE tolerable (5) ... 23
REPUDIICANS......coiviiiiiiecie e 19
DEMOCTALS ...t 25
INAEPENAENTS ... 24

Acceptable (6-10)......cccciiiieiieie e 35
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REPUDIICANS ..o 36

D= 1 (011 £ | £ 36
INAEPENUENTS ... 29
DON’t KNOW/RETUSEA .....ooeeeviieieieieeee ettt 3
AV 1T TR 4.7
REPUDIICANS......ccveciieiiee e 4.6
[D15] 1 L0 ]od - | £ T 4.9
INAEPENUENTS ... 4.4

[SCREEN 34]
INCREASING BENEFITS

We will now turn to the second major issue of whether Social Security benefits are adequate
for certain groups. Proposals have been made by people who believe that benefits for certain
groups need to be increased. This, in turn, would increase the Social Security shortfall.

We will now consider two such proposals for raising Social Security benefits for certain groups
of retirees.

[SCREEN 35]
Raising the Minimum Benefit

The first proposal is to raise the benefit for those receiving the minimum benefit. Currently, the
minimum Social Security benefit for someone who has worked 30 years or more is $760 a
month. The proposal is to raise this minimum to $1,134 a month. This would be 125% of the
poverty line.

This proposal would increase the Social Security shortfall by 7%.

Here is an argument in favor of this proposal. Please select whether you find it convincing or
unconvincing:

Q23. The current minimum benefit is below the poverty line. It should be a basic principle that
if you work for 30 years and pay your Social Security taxes, your benefits should assure that
you can retire with dignity and not be condemned to live in poverty.

VEIY CONVINCING . ...eiviiiiiiieieienie sttt 32%
REPUDIICANS......cciiieiiiiiecie e 25
DEMOCTALS ...ttt 37
INAEPENAENTS ... 35

Somewhat CONVINCING .......coviieiieie e 40
RePUBIICANS ... 43
DEMOCTALS ... 41
INAEPENAENTS ..o 33
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SomMewhat UNCONVINCING ......eoeeiiieiiiie e 17

REPUDIICANS......eeieeieiice e 20
DEMOCTALS ... e 16
INAEPENUENTS ... 14
VErY UNCONVINCING ...c.viivieiiieiesieseesieseesieessesseesseeseeseesseessesseesseensens 9
REPUDIICANS......coiiiiiie e 11
DEMOCTALS ..o 4
INAEPENUENTS ... 14
Don’t KNOW/RETUSEA .......ccveeiiiiiiieieee e 2

Here is an argument against this proposal. Please select whether you find it convincing or
unconvincing:

Q24. Given the difficulty of reducing the Social Security shortfall, we should not be considering
any additional benefits. The main problem of covering the shortfall should be solved first and
only then should we consider raising the minimum benefit.

VEIY CONVINCING ....tieiiiiieitieiesiie ettt st 22%
REPUDIICANS......coiecieiice e 29
DEMOCTALS ... e 20
INAEPENUENTS ... 14

SOMEWhat CONVINCING ......veiveiieiieeie e ee e ee e 39
REPUDIICANS......cciiiiiiciiccie e 42
DEMOCTALS .....eeieiiie et 38
INAEPENAENTS ... 36

Somewhat UNCONVINCING ......ccoveiieieiie e 23
RePUDBIICANS ... 19
DEMOCTALS ... 24
INAEPENAENTS ..o 27

VEIY UNCONVINCING ...ttt sttt ens 13
REPUDIICANS......ccviciiiciece e 7
DEMOCTALS ...t 14
INAEPENAENTS ... 19

Don’t KNOW/RETUSE .......eiviiiiiiieieie e 4

[SCREEN 36]

Now that you have considered all the arguments, here again is the proposal:

Q25. Raise the minimum Social Security benefit to $1,134 a month for those with 30 years of
work history.
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This would increase the Social Security shortfall by 7%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ..o 34%
REPUDIICANS......eoieeiecieee e 43
DEMOCTALS ... e 28
INAEPENUENTS ... 33

Just tolerable (5) ....vvvvvviii 0. 29
REPUDIICANS......eoiiiiieeee e 25
DEMOCTALS ..o 30
INAEPENUENTS ...t 33

Acceptable (6-10) ....oovi e 35
REPUDIICANS......eeieeicciece e 30
DEMOCTALS ...t e 40
INAEPENUENTS ... 32

DoN’t KNOW/RETUSE .......oviiiiiieieie e 2

IMIBAN ... s 5.0
REPUDIICANS......coieiieiiiee s 4.4
DEMOCTALS ..o 5.5
INAEPENUENTS ... 4.9

[SCREEN 37]
Supplementing Benefits for the Oldest

Here is another proposal. This one focuses on Social Security recipients who are in their
eighties, sometimes called “the oldest old.” Benefits would begin to gradually increase at age
81 and by age 85 the increase would be an extra $61.50 a month.

Here is an argument in favor of this proposal. Please select whether you find it convincing or
unconvincing:

Q26. People in their 80s are often at the point of exhausting their savings and any other
resources they may have. They are often quite frail and vulnerable, and need special services
and assistance to help them cope with living. Their benefits are modest to begin with, and
while people early in retirement can supplement their income by working part-time, this is
unrealistic for people at this age.

VEIY CONVINCING . c..eiviiiiiiieieiesiesie sttt 32%
REPUDIICANS......cciieieciicce e 28
DEMOCTALS ...ttt 37
INAEPENAENTS ... 28

Somewhat CONVINCING .......coviieiieie e 41
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REPUDIICANS ..o 46

DEMOCTALS ... 40
INAEPENUENTS ... 35
SomMewhat UNCONVINCING ...c..oieriiieiiiie e 19
REPUDIICANS......eoieeiecieee e 18
DEMOCTALS ... e 18
INAEPENUENTS ... 21
VErY UNCONVINCING ...c.viivieiiieiesiiesteesieseesieeeesseesieeseeseesinessesseesseensens 6
REPUDIICANS......oiiiiieiee s 6
DEMOCTALS ..o 4
INAEPENUENTS ...t 11
Don’t KNOW/RETUSEA .......ccuveiiiiiiiiiieie e 2

Here is an argument against this proposal. Please select whether you find it convincing or
unconvincing:

Q27. This idea is yet one more example of thinking that people should not be considered
responsible for planning for their financial needs. If we go down this path, it will make people
more dependent, discourage them from saving, and contribute to an overly big and
unaffordable government.

VEIY CONVINCING ...cuieiiiiieieeieseeseeiesee e e e sreesae e e eee e 17%
REPUDIICANS......cciiiiiciicie e 19
DEMOCTALS ...ttt 16
INAEPENAENTS ... 15

Somewhat CONVINCING .......coviieiieie e 34
RePUBIICANS ... 39
DEMOCTALS ... 31
INAEPENAENTS ... 33

Somewhat UNCONVINCING .....ccuviieiiiiieie e 30
REPUDIICANS......coiieiiciiccie e 27
DEMOCTALS ...t 34
INAEPENAENTS ...t 29

VErY UNCONVINCING....uiiveiiieiteeieseesie e stee e ee st ste e steene e e 15
RePUBIICANS ... 12
DEMOCTALS ...t 18
INAEPENAENTS ..o 17

Don’t KNOW/RETUSEA .......ccvveiieeieeiesieeie e 3

[SCREEN 38]
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Now that you have considered all the arguments, here again is the proposal:

Q28. Benefits would begin to gradually increase at age 81 and by age 85 the increase would
be an extra $61.50 a month.

This proposal would increase the Social Security shortfall by 6%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ...ccooveieeeeeceeeee e 36%
REPUDIICANS......eoiiiiieeee e 40
DEMOCTALS ..o 32
INAEPENUENTS ...t 38

Just tolerable (5) ....ovvviii i 24
REPUDIICANS......eeieeicciece e 24
DEMOCTALS ...t e 21
INAEPENUENTS ... 31

Acceptable (6-10) ....vnii i 37
REPUDIICANS ..o 34
DEMOCTALS ..o 46
INAEPENUENTS ... 25

DoN’t KNOW/RETUSE ..o 2

MIBAIN . e 4.9
REPUDIICANS......ccviiiiecie e 4.6
DEMOCTALS .....eeieiii e 5.4
INAEPENAENTS ... 4.5

[SCREEN 39]
RECALCULATING COST OF LIVING ADJUSTMENTS (COLAS)

There is an ongoing debate about how cost of living adjustments should be calculated for
Social Security benefits.

The annual cost of living adjustments (or COLAS) are calculated to keep pace with inflation.

Since 1975, Social Security has based such annual adjustments on the consumer price index,
which measures changes in the prices of a fixed list of consumer goods and services. We will
consider two different proposals that have been made which would change the way cost of
living increases are calculated. These changes use the prices of different sets of goods to
measure price inflation.

[SCREEN 40]
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COLA Based on Consumers’ Buying Behavior (the Chained CPI)

This proposal is to use a measure based on a set of goods that is selected based on what
people in general actually buy, because these do change, especially in response to changing
prices (this method is known as the chained CPI). As an illustration, if benefits are raised
based on the prices for the current fixed set of goods and average benefits go up about $32 a
month or 2.5%, then if benefits are raised based on the prices for the goods people actually
buy, average benefits would instead go up about $28 a month or 2.2%.

The effect of a lower COLA would compound over time. It is estimated that by making this
change, benefits would grow more slowly, so that 10 years after retiring average monthly
benefits would be about $35 less than they would be under the current method. After 30 years
average monthly benefits would be about $107 less than by the current method.

[SCREEN 41]
Here is an argument in favor of the proposal for a COLA based on chained CPI. Please select
whether you find it convincing or unconvincing:

Q29. Social Security benefits have been going up at a rate that is faster than the real cost of
living. The reason is that the current inflation measure does not reflect changes in what people
actually buy, which is based in part on what has become more or less expensive. If the
adjustments were to reflect this more accurate measure of the cost of living, it would very
slightly slow the rate of growth—thus saving money, while still maintaining seniors’ purchasing
power.

VEIY CONVINCING....ueiiiiiiiiieeiie s sre e ens 12%
RepUBIICANS ... 13
DEMOCTALS ... 13
INAEPENAENTS ... 7

SOmMEWhat CONVINCING .......cviiiieieieie e 45
REPUDIICANS......cciiiiiiicie e 46
DEMOCTALS ...t 47
INAEPENAENTS ... 40

Somewhat UNCONVINCING ......ccveiieieiie e 29
RePUBIICANS ... 25
DEMOCTALS ...t 29
INAEPENAENTS ..o 34

VErY UNCONVINCING ...ttt sttt st 12
REPUDIICANS......cciiiiiiiiece e 14
DEMOCTALS ...t 9
INAEPENAENTS ... 15

Don’t KNOW/RETUSE .......eiviiiiiiiiieieie et 3
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Here is an argument against this proposal. Please select whether you find it convincing or
unconvincing:

Q30. The idea that senior citizens are going to closely monitor the costs of a wide range of
goods and then regularly adjust their established lifestyle and buying patterns is just not
realistic. Ultimately, this is a benefit cut, even if it has a complex economic justification. We
need to ensure that Social Security benefits keep pace with inflation in the real world, not a
theoretical one.

VEIY CONVINCING ...cvieiiiieiiiesieeiesee e eaesreesteeseessaesaeesaesreesseessesseessaeneenseenes 23%
REPUDIICANS ..o 24
DEMOCTALS ... 24
INAEPENUENTS ... 21
SOMEWhAt CONVINCING ...c.vviiiiiieiieeie et 41
REPUDIICANS......eoieeiecice e 44
DEMOCTALS ... s 42
INAEPENUENTS ... 36
Somewhat UNCONVINCING ......ccveieeieiieieee e eie e e see e 22
REPUDIICANS......eoiiiiiiiee e 18
DEMOCTALS ..o 25
INAEPENUENTS ... 25
VEIY UNCONVINCING . ...viitietieieiiiesieeiesiee e sie et s see e 9
REPUDIICANS......eeieeieiiee e 12
DEMOCIALS ..ottt 5
INAEPENAENTS ..o 13
Don’t KNOW/RETUSEA .......ccvveivieieciieciieie e 4
[SCREEN 42]

Now that you have considered all the arguments, here again is the proposal:

Q31. Basing the annual cost of living increases for benefits (COLAS) on the inflation rate for a
changing set of goods that reflects what people buy, rather than a fixed set of goods, —a
method known as the chained CPI.

This proposal would reduce the Social Security shortfall by 20%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ...cc.ooveiieiceece e 31%
RePUBIICANS ... 28
DEMOCTALS ... 32
INAEPENAENTS ..o 36
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Just tolerable (5) ....ovvve i e 32

REPUDIICANS......eeieeieiice e 30
DEMOCTALS ... e 30
INAEPENUENTS ... 36
Acceptable (6-10) ....vnii 34
REPUDIICANS......coiiiiiie e 41
DEMOCTALS ... 35
INAEPENUENTS ... 24
Don’t KNOW/RETUSEA .......ccveeiiiiiiieieee e 2
IMIBAIN . s 4.9
REPUDIICANS......ccieiiiecieee e 5.1
DEMOCTALS .....eeeeiiii e 4.9
INAEPENUENTS ...t 4.6

[SCREEN 43]
COLA Based on Goods the Elderly Tend to Buy

The second proposal for changing the COLA is to use a measure for inflation based on a set of
goods that reflects what ELDERLY people tend to buy. Because they spend more than other
Americans for out-of-pocket health care costs and those costs rise faster than average
inflation, this method would make the cost of living adjustments go up faster than the present
method.

As an illustration, it is estimated that if prices for the current fixed set of goods goes up 2.5% a
year, the amount that prices go up for the goods ELDERLY people buy would be 2.7%.

The effect of a higher COLA would compound over time. It is estimated that by making this
change, benefits would grow faster, so that 10 years from now they would be 2% more than
they would be according to the current method. After 30 years they would be 5.7% more than
by the current method.

[SCREEN 44]
Here is an argument in favor of a COLA based on what the elderly tend to buy. Please select
whether you find it convincing or unconvincing:

Q32. The whole idea of making cost of living adjustments is that Social Security recipients
should not be hurt by inflation. The current system for calculating inflation does not really keep
up with inflation for what seniors actually buy, thus reducing their purchasing power. The only
fair thing to do is to change the method to reflect reality.

VEIY CONVINCING . c..eiviiiieiieieie sttt 17%
REPUDIICANS......cciiiicciiecie e 14
DEMOCTALS ...t 21
INAEPENAENTS ... 15
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SOMeEWhat CONVINCING ......eoiveiieieeie e seee e e e 51

REPUDIICANS ..ot 56
DEMOCTALS ..o 50
INAEPENUENTS ... 44
SomMewhat UNCONVINCING ......eieiiieiiiie e 22
REPUDIICANS......eoieciecieee e 21
DEMOCTALS ... s 21
INAEPENUENTS ... 24
VErY UNCONVINCING ...c.viivieiiieiesiesteesieseesieesesseesieeseeseesseessesseesseensens 7
REPUDIICANS......eeiiiiieiiec s 7
DEMOCTALS ..o 5
INAEPENUENTS ... 12
Don’t KNOW/REFUSEA .......ccvveiiiiiiieieeie e 3

Here is an argument against this proposal. Please select whether you find it convincing or
unconvincing:

Q33. People can come up with all kinds of arguments for why this group or that group needs
to get higher benefit payments. The reality we have to face is that Social Security is in
trouble because it will not have the means to meet its obligations. We should be thinking of
ways to reduce the shortfall, not make it worse by increasing the cost of living adjustment.

VEIY CONVINCING ...ttt sttt ettt sttt sbennenre b nrea 18%
REPUDIICANS......cciiiiiciiccie e 22
DEMOCTALS .....eeieiiiieiie et e 16
INAEPENAENTS ... 15

Somewhat CONVINCING .......coviieiieie e 45
RepUBIICANS ... 44
DEMOCTALS ...t 46
INAEPENAENTS ..o 43

Somewhat UNCONVINCING .....couviieiiieieie s 22
REPUDIICANS......coiieiiciiecie e 23
DEMOCTALS ...t 21
INAEPENAENTS ... 22

VErY UNCONVINCING .....eiveiiieiteiiesiesieeie st e e ee st ste e s sre e nas 11
REPUDBIICANS ... 9
DEMOCTALS ... 11
INAEPENAENTS ..o 12

Don’t KNOW/RETUSEA .......ccvveiveeieciiesiieie e 5
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[SCREEN 45]
Now that you have considered all the arguments, here again is the proposal:

Q34. Basing the annual cost of living increases for benefits (COLAS) on the inflation rate for a
set of goods that reflect what elderly people tend to buy.

This proposal would increase the Social Security shortfall by 14%.

Please select how acceptable or unacceptable this proposal is to you on the scale below.

Not acceptable (0-4) ....cocveiveeceeceee e 37%
REPUDIICANS......coiiiiiiieiee e 43
DEMOCTALS ... 35
INAEPENUENTS ... 31

Just tolerable (5) ....ovvveii i 33
REPUDIICANS......eoiecieiicce e 31
DEMOCTALS ... e 30
INAEPENUENTS ... 40

Acceptable (6-10) .....vvnii 27
REPUDIICANS ..o 25
DEMOCTALS ... 32
INAEPENUENTS ... 22

Don’t KNOW/RETUSEA .......ccvveivieieciesieee e 3

IMIBAIN ... 4.7
RepUBIICANS ..., 4.4
DEMOCTALS ..ot 5.0
INAEPENAENTS ... 4.6

[SCREEN 46]
Congratulations, you have completed evaluating the series of proposals for reforming Social
Security. You're almost done.

Having considered these various proposals, we would now like you to complete the most
important part of this exercise. On the next screen you will see all of the proposals you just
evaluated, including the impact each proposal has on the Social Security shortfall. You will
then select your own preferred package of proposals.

As you will see, some proposals are mutually exclusive. Thus, you will only be able to choose
one of them.
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In the box at the bottom of the next screen you will see the amount of the Social Security
shortfall you have eliminated. When you make selections that increase the amount of the
shortfall, this amount will increase.

Ideally, at the end, your package of selections will eliminate the Social Security shortfall, as
well as covering the cost of any changes that increase the shortfall.

[SCREEN 47]

Proposals for Reforming Social Security

REDUCING BENEFITS

Lowering the monthly benefits of those with higher lifetime earnings

Q35_1. You may select only one (or none) of the following three proposals:

Option % Reduction in Social
Security Shortfall

a) Reducing benefits for the upper 25 percent of earners 7%

b) Reducing benefits for the upper 40 percent of earners 24%

c) Reducing benefits for the upper 50 percent of earners 35%

@) SEIECIEA .....ceveciieceee e 41%
REPUDIICANS ..ot e 42
DEMOCTALS ... 42
INAEPENUENTS ...t 36

D) SEIECIEA ... s 21
REPUDIICANS......coiiciieciieie et 18
DEMOCTALS ... 21
INAEPENUENTS ... 27

(o) S T=] =T (o SR 17
REPUDIICANS ..ot 16
DEMOCTALS ... 19
INAEPENUENTS ... 12

Raising the Full Retirement Age

Q36_1. You many select only one (or none) of the following three proposals:

Option % Reduction
a) Gradually raise to age 68 by 2034, and stop there 16%
b) Gradually raise to age 69 by 2041,and stop there 22%
c) Gradually raise to age 70 by 2064,and stop there 31%
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@) SEIECIEA .....ceveciieceee e 35%

REPUDIICANS ..ot e 30
DEMOCTALS ... 41
INAEPENUENTS ...t 31
D) SEIECIEA ... s 20
REPUDIICANS......coiiciieciieie et 22
DEMOCTALS ... 19
INAEPENUENTS ... 18
(o) S T=] =T (o TSR 23
REPUDIICANS ..ot 30
DEIMOCTALS ... 20
INAEPENUENTS ...t 18

INCREASING REVENUES

Raising the Cap on Taxable Earnings

Raising the maximum amount of salary and wages (the cap) subject to the Social Security
payroll tax

Q37_1. You may select only one (or none) of the following two proposals:

Option % Reduction
a) Raising the cap from the current $113,700 to $215,000
30%
gradually over 10 years
b) Eliminating the cap so that all salary and wages are
) 72%
subject to the payroll tax
Q) SEIECLEA ... e 31%
REPUDIICANS ... .eeiecieciiee e 31
DEMOCTALS ......veiee ettt 30
INAEPENUENTS ... 36
D) SEIECIEU ... e 52
REPUDIICANS ..ot 53
DEMOCTALS ... 58
INAEPENUENTS ...t 40

Increasing the Payroll Tax Rate

These proposals raise the Social Security payroll tax rate from 6.2% for both employees and
employers.

Q38_1. You may select only one (or none) of the following three proposals:
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Option % Reduction

a) Increase by 0.05 per year for 8 years up to 6.6% 18%

b) Increase by 0.05 per year for 14 years up to 6.9% 35%

c) Increase by 0.05 per year for 20 years up to 7.2% 53%

Q) SEIECLEA ... e 34%
REPUDIICANS......eeiecieciiee et 37
DEMOCTALS ......vviee ettt 31
INAEPENUENTS ... 34

D) SEIECIEU ....ceeeeice e e 22
REPUDIICANS ..o 20
DEMOCTALS ...ttt 28
INAEPENUENTS ...t 14

C) SEIECLEA ... .o s 19
REPUDIICANS......eeieceieciiec e 21
DEMOCTALS ......vviie et e e anes 19
INAEPENUENTS ... 17

INCREASING BENEFITS

Q39_1.You may choose both, only one, or none of these proposals.

Option % Reduction

a) Raising the minimum monthly benefit for those who 7%
have worked 30 years or more from $760 to $1,134

b) Supplementing benefits of those 85 and over by $61.50 6%
a month

@) SEIECIEA .....ceee e 47%
REPUDIICANS ..ot e 41
DEMOCTALS ... 52
INAEPENUENTS ...t 50

D) SEIECIEU ... s 32
REPUDIICANS......eeieciiecieee et 32
DEMOCTALS ..ottt 36
INEPENAENTS ... s 24

RECALCULATING COST OF LIVING ADJUSTMENTS (COLAS)

Q41_1.Please note that the first proposal reduces the shortfall, while the second increases it. The third
option does not increase or reduce the shortfall. You may select only one (or none) of the following
three proposals:
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Option % Reduction

a) Basing annual COLAs on a measure that reflects 20%
changes in what people buy, rather than a fixed set of
goods (known as ‘Chained CPI).

b) Basing annual COLAs on the inflation rate for a set of -14%
goods that reflect what elderly people tend to buy.
c) Continuing to base annual COLAs on the consumer 0%

price index

Q) SEIECLEA .....ceviiieceee e 32%
REPUDBIICANS ... 36
DEIMOCTALS ...t 29
INEPENAENTS ... s 30

D) SEIECIEA ... 20
REPUDIICANS......coiiiiiciicie et 17
DEMOCTALS ...t 22
INAEPENUENTS ... 19

C) SEIECLEA ... .ceiceieceee e e 27
REPUDBIICANS ... 29
DEIMOCTALS ... 30
INEPENAENTS ... s 17

A LIVE NUMBER BOX THAT IS UPDATED AS EACH SELECTION IS MADE: % of shortfall
solved

[SCREEN 48]

[IF TOTAL <100%, PRESENT Q42]

Q42_1. The package of proposals you have chosen still leaves a Social Security shortfall.
How would you like to deal with this shortfall? Please choose ONE of the following:?!

Go back and adjust your package of proposals to cover

the Shortfall...........ooo e 7%
OR

Have the government deal with the shortfall some other way........ 38
Don’t KNOW/REFUSEA ......ccooeiiiiiiiiiiiiiiiceee e 2

[IF Q42 = “HAVE THE GOVERNMENT DEAL WITH THE SHORTFALL SOME OTHER WAY” OR “DON'T
KNOw” Ask Q43]

! Results are percent of total. Only those that did not cover the Social Security shortfall received this question
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Q43:Q44. Here are some of the other ways that the government can deal with the shortfall.
Which of the following do you think the government should do? Please select all that apply.?

BOrrow the fUNAS ......ceviiiiiiiiiiiiiiiiiiieeeeeeeeeeeeeeeeeeeeeeeeeeeeee e 3%
Reduce defense spending..........cccovvvvviiiiiiiiieceeeeeeeieee e 17
Reduce non-defense spending (such as transportation,

veterans’ affairs, homeland security, the environment, and

(o)1 =T g T (=T 1) 13

Raise other taxes, such as income and corporate taxes.......... 12

Let Social Security benefits decrease when the trust fund can
no longer pay them in full. ............cccooos 4

Select if you want to go back and try again to fully cover the
ShOrtfall .....eee e 2

RETUSEA......oiiiiiiiiiiiiiiieeeeeee ettt eeees 3
[IF RESPONDENTS WERE SUCCESSFUL IN COVERING THE SHORTFALL AT ANY TIME THEY WERE
PROMPTED WITH]

Congratulations, you have covered the Social Security shortfall!

[SCREEN 50]
Q45. Are you currently receiving some kind of Social Security benefits?
=PSRRI 29%
ReEPUDBIICANS .....oviiiececeeee e 31
DEMOCTALS ...cviiiii i 30
a0 [T 01T aTo =T o1 24
N O ettt ettt e e e e e e e e —— e e e e e e e e ——eaaaeaaaaaaaarraaaaaas 69
Republicans ... 69
DEMOCIALS ...t 69
INAEPENTENTS ... 70
Don’'t KNOW/REfUSEd .........oeiiiiiiiece e 2

2 Percentages are percent of total. If the respondent covered less than 100% of the shortfall, and chose to “have the
government deal with the shortfall some other way,” or did not respond to Q42, they were asked questions 43. If they did go
back and try to cover the shortfall, and they were not successful, they were re-asked this question as Q44, though the option
to “go back and to try again” was dropped.
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[SCREEN 51]
Q46. How much do you think you can trust the government in Washington to do what is right?

JUSE @DOUL @IWAYS......cce e 2%
RePUBIICANS ... 0
DEMOCTALS ... 3
INAEPENAENTS ... 3

MOSt Of the tIMe.....cooi e 14
=T 010 o] o= 10
DEMOCIALS ....eiiiiii e 17
a0 [T 01T aTo =T o1 15

Only some of the tiMe .......ccovvvveiiiii e 58
RePUDBIICANS .....vviiiie e 57
DEMOCTALS ... 64
INAEPENAENES .....vvviieeceeeeeee e 49

NEVET ...t e e e e e n s 24
Republicans ... 33
DEMOCIALS ... 14
INAEPENTENTS ... 27

Don’t KNOW/RETUSEA ......ovveeiiiei e 2

[SCREEN 52]

D1. Generally speaking, do you think of yourself as a:
Republican..........ccco 27%
INdepPeNdent............iiiii e 21
DEMOCTAL ... i 32
(@1 = N 2
NO PreferenCe ......coovviiiiiiiiiie e 16

[AsK IF D1="“INDEPENDENT” OR “OTHER” OR “NO PREFERENCE” |
Dla. Do you think of yourself as closer to the:*

Republican Party........ccccccoiiiiiiiieeeee 8%
DemocratiC Party .........ooouviiiiiiiiciceeeiie e 10
NEITNET .. 21
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[SCREEN 53]
D2. How sympathetic are you to the Tea Party movement?

Very SympathetiC..........oovvviiiiiiiiiee 10%
Somewhat sympathetiC..........cccoovvviiiiiiei e, 29
Somewhat unsympathetiC............ccooooiiiiiiiiiiiis 24
Very unsympathetic ... 31
Gender
ML ... 48%
FemMale......ooooiiiii 52
Age
18-29. i 21%
0 25
5.5 . 27
G0 26
Education
Less than high School ... 13%
High SChOOI ........e e, 30
SOME COIEGE ... e 29
Bachelor’'s degree or higher...........ccooovviiiiie e, 29
Region
NOIMhEaST ......ceiiiiiiiiiii 18%
IMIAWEST . ... 22
SOULN Lo 37
WS e 23
Race
White, NON-HiSPaniC ...........uuuuiiiiiiiiiiieeiii e 66%
Black, Non-HisSpanic.............cceeiiiieeiiiieiiie e 12
Other, NON-HIiSPANIC ........ccoiiiiiiiiiiiee e 6
[ 1157 0= L o 15
2+ Races, NON-HiSPanIC ..........uuuiiiiiieiiiiiiiiiiiiie e 1
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